" PLACE VALUE

A P|qce value is the value of a cligit in a number. The

[
. .

digit is in the Position of ones, tens, hundreds or
thousands.

A ComP|ete the table. The first one has been comP|etec| for you.

Number‘ Thousoncls Hunclreds Tens Ones
L 5 b 3
| 9

A

5
1
9
2

6
8
9
3

2. Write the P|c|ce value of the underlined numbers.

a. 532/ - ornes

b. 532/ - hundreds
c. 5324 - thousands
d. 5324 - tens

3. Underline dll the hundreds with GREEN and the ones with BLUE

in each number.

539| 78 974,
3310




PLACE VALUE

Bredk the f o||owin3 numbers up into ones,

tens, hundreds and thousands. ExomP|e: 23718 =

thousands hundreds tens ones
2 3 i 8
thousands | hundreds | tens | ones thousands | hundreds | tens | ones
J; 6 5 A 3 2 A |
thousands | hundreds | tens ones thousands | hundreds | tens ones
L 3 6 I 6 1 L

Write the numbers in equncIecl notation. Exqmple - [356 = [000 + 300 + 50 + 6

14671 1000 + 400 + 60 + ]
243 2000 + 400 + 30 + |
150 00 +50 + 0

1627 1000 + 600 + 20 + 7




PLACE VALUE

Com|o|ete the sentences.

. 2345 = _/h tens and 5 ones.

2. IB6] = 8 hundreds and 1 tens.
3. 8912 = 8 thousands and 2 ones.
A. 3424 = _/h hundreds and 2 tens.

Answer the f o||owin3 q{uestions.

. What, does the number 7 Pepresent in 4527? ones
2. What does the number 2 r‘ePr‘esent in 4527? tens

3. What does the number 5 rePresent in 4527? hundreds

A. What, does the number A rePresent in 4527? thousands

Count the blocks.

Write the number in words.
Two thousand three hundred and
f or‘tg SiX
: : : — Write the number in equnclecl
: ] O - notation.
1 H B ) 2316 2316 = 2000 + 30 + £ + 6
ajsjia !




| | | | |

Write down the P|oce value

" Place value it

1326




